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BACHELOR OF EDUCATION 

Term-End Examination 

December, 2011 

ES-332: PSYCHOLOGY OF LEARNING AND 
O 	 DEVELOPMENT 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 
(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Explain, the stages of human deVelopment. 
Discuss the major changes during adolescence 
stage. 

OR 
Explain the nature and meaning of language 
development. Discuss the role of an effective 
teacher in acquisition of language competency by 
students. 

2. Answer the following question in about 
600 words. 
Explain the concept of personality development. 
Discuss main factors which influence personality 
development of children. 

OR 

ES-332 
	

1 	 P.T.O. 



Explain the meaning and nature of academic 
achievement. Describe instructional strategies to 
cope with differences in academic achievement. 

3. 	Answer any four of the following questions in 
about 150 words each. 
(a) Explain Kohlberg's concept of moral 

growth. 
(b) Explain the concept of divergent thinking 

and creativity. 
(c) Explain the concept of cognitive approach 

to learning. 
(d) Explain the meaning and nature of group 

dynamics. 
(e) How will you identify children with learning 

disability ? 
(f) Differentiate between guidance and 

counselling. 

4. 	Answer the following question in about 
600 words. 
As a teacher in a secondary school you have 
students in your class who face adjustment 
problems. Give concrete examples to illustrate 
your role in helping children with adjustment 
problems. 

ES-332 	 2 



I #.71.-332 

*ATI' 	t-itich 317 ft enitishil 

Tritff TRIATr 

	 2011 

t.741-332 : alfeTTM IT fe1chlt4 	Hi (44111 

tlifq : 3 btu 	 3ifeWd-q SITft : 70% 

: 	0 79.17. wnYwaarrn-oriiel 

00 Toff mq ,f7 -? $nft 7:171TV t/ 

1. r". , 4-1R1R.Icl Mk1 	3rIt W1 1T 600 	 fo.d.  
1-11-141-4-*--rg 	ameTrat ---lf--4-4-4ffr T-(1 ft-Au-41:21-r 

Tsti Lifiaci-ii 	&fr+51-ft I 

aTemr 
iTrErr -f-4-*--g-tfa-mg 3T2 	.411(9,41 .TtI fmrP1-41 

wErr VrvrF 	3TfITTA-vr 	let, A 	aTwrcrw 

iirrrifaTF 177 

2. -14-1 ci (51 31Vi 	31t WPM 600 ki.q1 fetr7 
~ifctcica fqwrg 3T4tirtarr fa -9r -wW4v  tic 

ceircroca fa-wr-{4 311.TTF-d7 cnt4 	ciksql 
WIN7 I 

31TM 

ES-332 	 3 	 P.T.O. 



-ffuT 77-ifaT air 3TO 74 3r-t-fa. 	ict 	W-A7 

-ff 	 -r--44 	Nvra-ra# 	cnil, 	31-1-k-w9.  

ov(1114 	W-A7 

	

3. 	1:14--Ircifigi g 	rut 54q1i't 37R 7TTIPT 150 qittq - 

mrcl =0 -1  • arlTrr-{ q11-,R 

(a) cb.lcisf+i "1"1 -Fq-*-71 -1' 3-17NT7T 

--1-f-A7 

(b) arcR:17.1 	(divergent thinking)"UP-TT 

3Tqz.TTP7TT 	.1.)) 

(c) 3TN1r 	 31qqrtu1r 	Fc4 1-II 

cbt 

(d) 717 4 rici -11 CH cbC11 	3T21 	7frff 	cq 1(9t11 

 ch.i) 

(e) rati+-R-H34 1K'4FM-4 	aTfEr 

? 

(f) 4-114qq1-i 	-9-7:0 	31.--{ Tcrtz (4,1 

	

4. 	1 4-1 ci (5d 	dr1( 711317 600 7T-- IgThlt I 

1*-ziP7W rcisimq i taTW 	 3174- )-1T 

To fq-grtil a;1 	 TrzRzit -47-67r cl 	 t 

	

Tla-- zErraff air,) -r--4-trrr2M 	'-11q(11 	3-1791-  

I:F*7 TT:a 	dqiul qr,-R 

ES-332 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

